Geometry CC Name: V-E—\{
Unit 1 Part 1 Test REVIEW Date: Period:

*Don't just stop at this review..Look over any notes and old reviews that you have to help prepare for the test™

1. Tdentify the pairs of congruent angles and corresponding sides.
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2. Determine whether the polygons are similar. If so, write the similarity ratio and a similarity statement.
a)  ARSQand AUXZ b) rectangles ABCD and JKIM
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3. If the length of arace car is 5m and the width is 1.8m, find the length of a model race car if the width is 6.3 cm.
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4. Name the dilation and then the translation that was used to map 3 I il \L.
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5. Apply the dilation D‘ to the polygon with the given vertices. E(_4,6) F(-2,-2),6(4,-2) H(4,4)
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6.  Verify that the triangles are similar

a) APQR and ?STU b) ADEF and AHJK
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7.  Explain whyAABE AACD , and then findCD . 0
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8. Given that AABC ~ AADE | find the scale factor and the coordinates of D . *1¥
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9. Solve each question. Write a justification for each step. ‘
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10.  Use the given information and the theorems you have learned to show that || s .
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11, Given: FD bisects LEFC. / N
FC bisects £DFB. L ¢
_ ,ﬁd'\ o

Prove; LEFD = ~CFB \i

Proof: £k

1. FD bisects ZEFC, FC bisects £ DFB. 1. é—{‘ v e
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L LEFD = LOFC, LDFC = ZCFB

Dot of £ bisechor
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-MLEFD=mgDEC, m«£DEC =m« CEB

De€. of = Ls.

4. mLEFD=mLCFB
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12. Given: pll g

Prove: m<1+ms3=180°

Da€. of = _Ls.
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Proof: p q
Statements Reasons
T.pllg 1. Given
2a £ pdB = AR 2. Lin. Pair Thim.
3.21=22 | 3b Lowasgor\d'm%, (s
4o &L\ = L2 4 Def of = 4
5d mLl+m L3 = 10" 5. Substhhithon

13, Givens £1 = 24, £3 and 24
; are supplementary.
Prove: £]] i

Statements | Reasons

1. s1=24 Eiwven

2. ms/l=ms4 DO:G“ C)‘é = /S

3. Z3and 24 are supplementary GV en

4, 3+.4=180° De€. o€ Supp L5

5. £3+21=180° Suwbhbsh i\,\‘\li'qr‘u

6. ms2=m23 VeyBce \ LS

7. 22+ 21=180° SN rahon
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